[ Efficiency vs vertpos |

= 0.
£0.098]
g

20.08

[S]

§0.07

L_) -
50.08ET
0.05E |

0.04
0.03
0.02
0.0

q

0.8

tary

Ratio

M PURE S B LALARD LARRE RRREN LAARN RAARE LMUAE REVAE JLAN LALAR RARRS

0.6

3

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001_ Global__CMSSW_ckfnocut2_RECO
Efficiend —— pom_v0001_R000000001__ Global__CMSSW_mknocut2_RECO

~ 0.1 - T T T T
L [ RS SR S S
") . . . . .

L S S T R S
LC) .

g 007 et
S : :
£0.06f-----F-eeee
o : : :
0.05f -+t eoree gt A1
0.04F-++-esberspreeifoeeees beeed g
0.03F--+-+---f} ' :
0.02F-----4|11f
0.01F 3 ”

Vs

Ratio

...... WA ¥ 4 G | [ S [ P 6 ¥

0.95

[y
TTTT[TTTT[TTTI[TTTT

2
ofe
o

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
a 0.18
c o
D 0.16:—
20.14F
& o
€ 0.12]
0.4+
0.08f1
0.06)
0.04F
0.02

efticie

1.0

Ratio

1

= ||||l

0.95
10 15 20
Sim. PV z (cm)

o

9
9,




	Contents
	Page 1


